
2025 - Feb-10 Let P be symmetric with entries in [0 . 17,
M(aid) = EdPl R= M - P

zero diagonal

If1lk1l small
, eiguals and eigress of MadP are similar

.

So
, if eigress of P are useful

,
those of M could be

,
too

.

Stochastic Block Model) Planted partition Kor 4 D = /PF -P
Can you recover X andY from M ?

For any matrix M
,

11 MII = max IlMxll = largest singular value· Symmetric = maxMx

Ik1) = 1 |(t 1) = 1

#refutationTheory
. If A-B = R

, A has eguals <12. = An
,

B has eiguals B 1
=- Bu

Ii - Bil = IRII
.

If diad ii have multiplicity 1 and liand its are their eigress,

and = angle(Pi , til then SinZE=-dimidity) ·
Davis & Kahan

Why min(i-j) matters Ex . Az(90) B=) casle clause

or B = (ii) 4:
= (1)

A + A - Xi

#of (that Sinc = 2R/Min(xi-xi)) :
Assume molog di = 0

, by B-B-d

llAtill = (l(B + R)Till - llBTilL + 1RMill (assis /Mill =1) = B : + IRI = ZIRII

Set Cj = di4j. coso = C ,
sino : 1-1j . Let J = min (xi-xj)

jt i

llAtil =[==sin

So
,
8 sinE = 21/RI

, Since



Given (x=*, liFE , edges inside +
,
Y prot 4 . between proti g

,
429 recover X

,
Y

.

Let X= d = - = In De eigrals of P+pI =
↑Jul &Jnk a = z(p+q)4 = (i) rest O1(& Julz PJul

xz= z(p -q)4z= (- 1)

We want p-q - (4+q-tA)) , so p = 39 and Min (x2-di) = xu

Thm Cusing technique from last lected. For R = M-P
,
pe

, ahpl/R =3.

So
, Sinang (42 , 42) =2

Let S=c:(a) decal -03 for such a local - Trall : E,
so 1102-Yul= As 1142-tell = Esing, 21sing

Is) = In P = 288 if 4-9 coust
, get constant eirers

Consider p=z,=- gives ISI : "14.


